
Algebra 1: Test (H)

Q1)

Q2)

Q3)

Q4)

Q5)

Q6)

Q7)

Q8)

Q9)

Factorise 8𝑥2 − 20𝑥𝑦

What is 38 × 33 ? Give your answer in index form.

Solve 9𝑥 + 3 = −5𝑥 + 45

Solve 4 < 6𝑥 − 8 ≤ 22

Simplify (2𝑥2 × 5𝑥6) ÷ 2.5𝑥−2

Expand 4𝑏(𝑎𝑏2 − 3𝑎 + 𝑏)

Find the value of (
16

25
)−

3

2

What is the value of  𝑥0

Solve  
2𝑥

3
+ 7 > 15



Q10)

Q11)

Q12)

Q13)

Q14)

Q15)

Q16)

Q17)

Q18)

(16𝑥20)
1
4

Factorise fully 16𝑥5𝑦3 − 24𝑥3𝑦2 − 20𝑥4𝑦3

Simplify 
32𝑥7𝑦5

4𝑥2𝑦 ×2𝑥𝑦−3

Solve 
3𝑥+11

5
= 12

Make 𝑥 the subject of 3𝑦 = 4𝑥 + 5

Make 𝑥 the subject of 𝑦 =
𝑥+3

𝑥−1

What is the value of 125−
1

3

Expand 3𝑥2(5𝑦4𝑥5 −
2𝑦

𝑥
)

Make 𝑎 the subject of 
3
𝑎𝑏

𝑐
= 4
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